RRH

ERERIRE

BRSH

NESELEe

T ME (KHED)
MULMEGELEATETERN @ 360°)
B AR

R}

% of meas. range
% of meas. range
o

o YR bit
BAATESM® °
PRI SRR kHz
BRE AR R kHz
RIEE X REZ IR ps
ERERXRFEEBLER ps
AHESEREERHK ppm/°K
MTTFd/MTBF years
fite B8 vbeC
T A BRI FE(typ.) REER mA

T AR ERIAFE(typ.) BEER mA
B /> BB S Bk kOhm
RMERAKBEAR nF

BB R AR M R R

H[6) B RE

BIRGGEEBE mm2
BROoBSEE

BIRALKEEBE mm2
JLER

O BSEZETR

BREZGMEBE TR mm?
REBREETR

BRGEEBE TR mm2
M S B

W AT E

Bt S5

BNEW movements
ITHENEFRE °C
IEC 68-2-6 #E 3] (Amax = 0.75mm, f= 5 ... 2000 Hz) g

IEC 68-2-27)

Hatk

EN 55022 class B, Emission radiated (30... 230 MHz) dB(pV/m)
EN 55022 class B, Emission radiated (230...1000MHz) dB(pV/m)

EN 61000-4-2, ESD (contact discharge / air discharge) kv
EN 61000-4-3, Immission HF radiated (80... 1000 MHz) Vim

EN 61000-4-4, Burst (on all lines)
EN 61000-4-5, Surge (lines to ground)

EN 61000-4-6, Immission HF conducted (0.15...80MHz)
EN 61000-4-8, Immission magnetic field (50Hz)
IEC 60393-1 Insulation resistance (500VDC, 1bar, 2s)

kV

kV
Vemk
A/m
GOhm

IEC 60393-1 Dielectric strength (VAC, 50Hz, 1min, 1bar) kV

BREEEAR (b)) ARR/AT TEL:400-800-5927 5k L:

www.tifu-auto.com

ER (B HRA

MH-C

0...360

+0.3

0.5

0.1

12

0.1

(5)

1.66

(800)

4600

100

185/ 185
10.8 ... 35
(19)

14

10

100

yes

Wires (3x)
0.56 (AWG20)
Cable 3pole
0.56 (AWG20)
yes

Wires (6x)
0.56 (AWG20)
Cable 6pole
0.25 (AWG24)

360 (continuous)
1F68

no limitation

-40 ... +85

50

200

max. 30
max. 37
+4 /8
30

+1

10
30
20

Zl

MH-C2

0 ... 360
+0.3

0.5

0.1

14

0.1

)

0.5

(800)

2500

100

147 1 147
11...35
(20)

15

10

100

yes

Wires (3x)
0.56 (AWG20)
Cable 3pole
0.56 (AWG20)
no

360 (continuous)
IF68

no limitation

-40 ... +85

50

200

max. 30
max. 37
4/ +8

Vert-X 37E - 24V /0.1 - 10V

B A

Rl LA
B
ol 44
RHARER

FREL EN
=i &R 1P68
FEAFRI
NN E S E

RE&Faw

BEENE
BEFEHRENA

(RE ER, A RIHE)
BRELESAETREAED #
BB

FRER MH-C
PR 12bit
TEAR
tEMH-C2 EEE

R4 R MH-C2

2 P 14bit

REIR RERFEAMAETR
/A 4R TE(FTi%)

CONIELEC

A company of the Siedle-Group
18017427003



R}

RRBEEAR (L) FRAF

WY

1E o % BE CWHR A1

IE B B CCWHIE2

TUR, E@#E CWAES

TUR, EE#E CCWA 4

TR, RXESHE TS

IE 4B CW 5188 FF X i AT e A
EFBE CCW T 1B FF X i 7T 1£B
IEFBEEE CW #5288 IF % 4 i A% C
IEMBE CCW 2B FF 55 i i AT 5D
BERE 77 [0 IR E AIEE

BAREE /fE

3 Ak 44 4pole

5 ¥R A 448 3pole

7 A% 448 5pole / 6pole
9 Tk SR A4S IR L4

BREE/ &E

4 1R B B4 3pole

6 Ai% B B4 6pole

9 Ik PR B AS TR LK

FRMBERE 5 @ AR E A% F
QR F eSS 5 18 iR E LG
IR R & RUBE#E 75 16 AT R E A% H SHKE
4 F2Vert-X EasyAdapt i&P 01 @3 10cm
03 A 30cm
05 #5 50cm
HWHES 99 Tk HHKE
0,1vDC ... 10VDC Standard 1
BRKE
02 ¥5 4 1.0m
" 06 A% 3.0m
R 10 A% 5.0m
24VDC Standard 1 00 Wik BHKE
Vert X 3 7 E 4 7 3 6 1 1 0 5
BRKA
36IR S A360°
xxA]1%03 to 35; Declaration in 10° steps
QOB HRBREA
ERBRE
7 MH-C
8 MH-C2
AL 4 M AR AR
37E1 T3k AARK %K size 13 ; BMERTHMGtype 1
37E2 WL A R R $size 13 ; B R IT L #Gtype 2
37E4 WA AR L &Esize 13 ; B HITHLH type 4
37E9 Wik %R BB RTIGE
MH C MH C2
1T I B M0 4T WL A X X
T HIA R X X
iT #l e 88/ 4% X X
TR AR = SRR R X X
FFRIIBETTL (max. 2) X X
AR B 2 X
HHREBESE A STE30°to 360° (BWI) X X
BREATRE (R X
BEARNALQITIRE FNLE) X
HE¥E 5 MCW/CCW RIRE / Al fmi2 (BN &L RER ) X
RE|KRANRE/ ARE (FN KL R EKAM) X

.

-
=
Ic

Vert-X 37E - 24V /0.1 - 10V
g Kas

Frxem
BFEX—MRF(®K. 127), €
B M 3T B Rk o

ik (REEFER)

CONIELEC

A company of the Siedle-Group

EREEEAR (L) AFRAT TEL:400-800-5927 3K L: 18017427003

www.tifu-auto.com



AW |

RRBIFHEAR (L) FRAFH

*
| :

Vert-X 37E4 xxx xxx 5xx
Vert-X 37E4 xxx xxx 7xx
B4 (incl.)
Finbaumass [ tdz 1x BEXRF
) 5 . - 2x B B IR 4 M5x12
working position 16
M5 it T fe{e B(2) 7 BT
- 21 3 BRAVH
l — g 15 - BSEREEFER
JS1 <] | F
= T
Lo O‘?‘ :— ajl - i
- 5 U= 1 <
S| o % | s =
| 7 HAn O \
e v
G HURIE
j 4 H
||| #5Tiefe 5 12
$ 26 19,4
Vert-X 37E4 xxx xxx 4xx
Vert-X 37E4 xxx xxx 6xx
B2 4 (incl.)
‘ 1x BERF
tinbaumass P 2 5 R 2 R M5 12
S 13 working posilion |4 g
! TAEIE(Z) 1 B ITHLG
71 3 B K £ U 4
/ —
P I _ B - BSEREER
x s
k| 16
0 -1 “CHH - -
= T
Sl o] |eo [ co‘ — ,
Sl TN=Ire — 1 o«
- 3 =0 s =
S ™ _STHA \
~ T Y~
l L HH
=
Y #\ L__
@5 Tiefe b 12
826 24
A company of the Siedle-Group

BREBRA (L) BRATE TEL:400-800-5927 3K T.: 18017427003

www.tifu-auto.com



RERBEEA (L) FRAF

Einbaumass ~ [rdz
W1 working position 16
B |
1 —H oS
a <CHT 5
= oo \ ) g g"
=
g
o CHE 1
= T 1
|1 Nyl
‘ = 4]
|| 25 Tiefe 5 12 165
g 26 19,4
. Einbaumass [ tdz
.;SW 10___ working position 16
| 4
D — - =3
Q — —H+ =
A ERE il -
, \ = \ 2 s
kN {@2¥ ) 1 & 1 Ul
N | ATy !
- Tl
0 1H 1
s i
e

)

#5 Tiefe 5 g2 10,2

¢ 26 24

REABEEFEAR (L) ARAT TEL:400-800-5927 5k L

www.tifu-auto.com

-

L

i.!;_

Vert-X 37E1 xxx xxx 5xx
Vert-X 37E1 xxx xxx 7xx

B (incl.)
1Ix BEXRF
2x T FE R R R IR 4 M5x12

THRAMLEZ) M B ERATHY
RARAFH
SEREKER

Vert-X 37E1 xxx xxx 4xx
Vert-X 37E1 xxx Xxx 6xx
B2 4 (incl.)

IxBEXRF

2x R S IR 4 M5x12

THEMLEZ) R BMEHRATHN
BRR AV
SERERR

CONIELEC

A company of the Siedle-Group
18017427003



RRETFEHEAR (LI FRA

A}

|

H]

Einbaumass / tdz
working position g
1 6_"_“‘_
=M5 i NE
) “THH o
C)“ |7 1 1 I
Tollais " /
A= 1l i
g R
<8 sHAS aka my wil ig
. R
™ 1H
" S‘r _el’- :_
. - 10,5
o | @5 Tiefe 5 T2 MEREN
. #25 19,4
Einbaumass ‘Z +dz _
3x M3 warking position B
—q— L. = <=}
= |3
T T o HE =
o] 5
Dg. r 1 H‘II k
" Tl oll -+ b
ST AT M= T el lsls
sl | o LJ‘,Tf ik b4 ™y
- P
™M JT 1
| =y nui
—+- = 10,5
| 5 Tiefe b 12 NN
g6 24

Vert-X 37E2 xxx xxx 5xx
Vert-X 37E2 xxx XXX 7xx

B (incl.)
1Ix BEXRF
2x T FE R L E IR 4 M5x12

T B(Z) M AT
Bk A 6
BEREEL

Vert-X 37E2 xxx Xxx 4xx
Vert-X 37E2 xxx xxx 6xx

B2 4 (incl.)
Ix BEXRF
2x i FE R T & 18 4 M5x12

THENUEZ) M EERTHE

RR AV
SERERFER

CONIELEC

A company of the Siedle-Group



RRELHEAR (L) FRAF

Vert-X 37E4
ZRER
THENEEZ)
% MH-C 3.85mm
—+I MH-C redundant 4.35mm
B MH-C2 3.85mm
A
BMERATIIIBA SV 83
dx +0.25mm
dy +0.25mm
dz +0.5mm
Vert-X 37E1
REREER
THEMEZ)
MH-C 4.95mm
MH-C redundant 5.45mm
%l i 3 MH-C2 4.95mm
+ ¥ '
M E_; = o e s
BAERATH B K SRR IL
A dx +0.25mm
dy +0.25mm
dz +0.5mm
A company of the Siedle-Group

BEREEEA (HF) ARAT TEL:400-800-5927 5K T: 18017427003

www.tifu-auto.com



RRBEFAR (L#E) FRAF

ST

- 50
Q
N . oL
]
1 , '
% u £ (]
i i ' ‘
. $33,8

35
1,5
41
u

Vert-X 37E2

TEES

ITHEEEEZ)

MH-C 6.45mm
MH-C redundant 5.95mm
MH-C2 6.45mm

BMERATYL R R A VI

dx +0.25mm
dy +0.25mm
dz +0.5mm
Vert X 37E

CONIELEC

A company of the Siedle-Group

BERBEEEA (B ARAT TEL:400-800-5927 5K T.: 18017427003

www.tifu-auto.com



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7



